ext 2(+7=X-3 @ e 2x+7=X-3

7(43[1’3 F="x-3

\We have do gt - -
X = -0 ’ﬂ\t vmauz?g 0 lX

oe side of the
oot | |0 = x 0k




1. Get rid of grouping symhols. (usually by distributing)

2. Combine like terms on left side. Then, combine like terms on right side.
3. Get the variahle to one Side of the equation. (hy adding or subtracting)

4. Undo addition/subtraction.
9. Undo multiplication/division.

J ITIS ALWAYS A GOOD IDER TO CHECK YOUR SOLUTION TO SEE THAT IT MAKES THE EQUATION TRUE. “

An equation is a puzzie. Your job is to find out which number
hehaves in the way that the variable behaves in the equation.
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Solve each equation.

ex3) gK+2=-X-2

X +X
Ux 1 = -2
A A

dx =-4
q L

X =l

ONBOTH.SHIES 1=\

exd) -F=-4r+2

4 +Yr

5 =4
3 3
. Tweee 1500

_ A need to

(- ? conveetto
— a decimal.
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Combine hike tems on each

=Y

1!

Solve.
exs] -36+20=-3N+M-IN o wherever possible.

-3 +an = -1
-an ~dn)
~50 =~
-0 -

d = n o&@
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exT) li(w 2)-8= 5/(\W+6)
~Uw ’[ngl\’ 0w +30 ~d

~qw = 0w +43%
~ 0w 0w

“lw - 43
-4 -
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34 +dm-§ ) - P W

- 3] =Sl

1 |0m + 10w
~fm +a4 =90
-4 -4y
~fm =
_3 ~6 ‘
alwoys
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